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Multiplying & Dividing by Ten 
 

 

 
 
Section A 
 

1)   85 x 10  =   6)   4.1 x 10  =    11)   55.6 x 10  = 
2)   13 x 10  =    7)   5.2 x 10  =    12)   27.4 x 10  = 
3) 123 x 10  =   8)   2.7 x 10  =   13)   86.5 x 10  = 
4) 452 x 10  =   9)   9.4 x 10  =   14) 102.1 x 10  = 
5) 801 x 10  =           10) 70.3 x 10  =   15) 732.7 x 10  = 

 

Section B 
 

1) 4.15 x 10  =   6)   19.11 x 10  =    11)  778.15 x 10  = 
2) 6.19 x 10  =    7)   87.02 x 10  =    12)  219.23 x 10  = 
3) 8.01 x 10  =   8)   53.97 x 10  =   13)  400.82 x 10  = 
4) 2.32 x 10  =   9)   36.45 x 10  =   14)  524.07 x 10  = 
5) 1.19 x 10  =           10) 443.62 x 10  =   15)  501.99 x 10  = 

 

Section C 
 

1)    16 x 10  =   6)     2.8 x 10  =    11) 206.06 x 10  = 
2) 8.07 x 10  =    7) 10.71 x 10  =    12)     9.71 x 10  = 
3) 12.1 x 10  =   8)      34 x 10  =   13)       9.7 x 10  = 
4)    94 x 10  =   9)  9021 x 10  =   14)   112.8 x 10  = 
5)      3 x 10  =           10)   3.05 x 10  =   15)     0.08 x 10  = 

 
Section D 
 

1)   60 ÷ 10  =   6)   41 ÷ 10  =    11)  149 ÷ 10  = 
2)   70 ÷ 10  =    7)   84 ÷ 10  =    12)  604 ÷ 10  = 
3)   30 ÷ 10  =   8)   25 ÷ 10  =   13)  728 ÷ 10  =  
4) 250 ÷ 10  =   9)   82 ÷ 10  =   14)  113 ÷ 10  =  
5) 740 ÷ 10  =           10)   99 ÷ 10  =   15)  919 ÷ 10  =  

 

Section E 
 

1)   7 ÷ 10  =   6)      6.1 ÷ 10  =    11)     85.4 ÷ 10  = 
2)   9 ÷ 10  =    7)      5.3 ÷ 10  =    12)     97.3 ÷ 10  = 
3)   3 ÷ 10  =   8)      2.8 ÷ 10  =   13)     11.9 ÷ 10  = 
4)   6 ÷ 10  =   9)    4.62 ÷ 10  =   14)   73.01 ÷ 10  = 
5)   5 ÷ 10  =           10)  8.337 ÷ 10  =   15) 140.12 ÷ 10  = 

 
Section F 
 

1) 24  ÷ 10  =   6)  6153 x 10  =    11)  9.003 x 10  = 
2)   8  ÷ 10  =    7)      24 ÷ 10  =    12)  408.9 x 10  = 
3) 4.5 x 10  =   8) 12.98 x 10  =   13)     461 ÷ 10  =  
4) 0.4 x 10  =   9)    533 ÷ 10  =   14)       29 ÷ 10  =  
5)   19 ÷ 10  =           10)   57.1 ÷ 10  =   15)    0.03 x 10  = 

L4 
Progression: Light 


